W A R Ty, 1/4
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K

172k (km) =0.6215H (mile)
12K (m) =3.2813 L (ft) =1.09444 (yd)
15K (cm) =0.3943F (in)
1#%=10-102k (m)

19: 8 (mile) =1.609T2k (km)
19:5 (fm) =1.829 (m)

1R (ft) =0.30482K (m)

19¢<) (in) =2.54)5K (cm)

158 (nmile) =1.852F % (km)
155=66 95 U (ft) =20.1168k

119 (yd) =0.9144k (m)

12 H. (mi) =0.0254%K (mm)
19 R (ft) =124 (in)

17 (yd) =3# 7 (ft)

1#F (rad) =16.53E R (ft)

19: 8 (mile) =52804L )7 (ft)
158 (nmile) =1.15163EH (mile)

[T

15F A8 (km2) =1004L (ha) =247.13%5H (acre) =0.386°F 59 H (mile2)
Ik (m2) =10.764F 75 (ft2)

141 (are) =100 (m2)

1A (ha) =10000°F 72k (m2) =2.471% K (acre)

1SR (mile2) =2.590°F 5 A B (km2)

1940 (acre) =0.4047AHi (ha) =4.047X10-3°F 5 AH (km2) =4047°FJ7k (m2)
PSR (ft2) =0.093°F 7 K (m2)

1P (in2) =6.452°FJ7 ik (ecm2)

1P 055 (yd2) =0.8361F 5K (m2)

AR

13777% (m3) =10007F (liter) =35.31537 73 R (ft3) =6.294# (bbD)
13 73R (ft3) =0.028337 75K (m3) =28.3177F (liter)
1F 3R (mef) =28.31737 /7K (m3)

1 I )59 R (MMef) =2.8317 )53k (m3)
1012327 9E R (bef) =2831.7J3377K (m3)
1AL T HER (tef) =283.174237. 77K (m3)

1377 8~F (in3) =16.387137J5 8K (cm3)

19EHT » BER =12343775K (m3)

14f (bbD =0.15937752K (m3) =424 (gah)
130n¢ (gal) =3.7857F (1)
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W A R Ty, 2/4

15 (gt) =0.9467F (1)
15 (pt) =0.473TF (1)
12635 H (gi) =0.1187F (1)
15014 (gal) =4.54671 (1)

i

10 (1) =1000T5% (kg) =2205%% (Ib) =1.102%GM (sh.ton) =0.984K:0ifi (long ton)
173 (kg) =2.2056% (Ib)

140 (sh.ton) =0.9071 (t) =20004% (Ib)

1K (long ton) =1.016M (t)

155 (Ib) =0.454F 3¢ (kg) [

12:7] (o0z) =28.3501%(g)

1T58/k3 (kg/m3) =0.00133/543 (glem3) =0.0624%/9:R3 (Ib/ft3)
/95 R 3 (Ib/ft3) =16.02T /K3 (kg/m3)

1f%/95~13 (Ibfin3) =27679.9 T 5/k3 (kg/m3)

1524 (b/gal) =119.826F 7/ k3 (kg/m3)

134 (Ib/gal) =99.776F 5i/k3 (kg/m3)

1% (4D #i (b/bbD =2.853T35/£3 (kg/m3)
192E 38 (B) =140/15.5°CHI L E—130
AP1jE=141.5/15.5CH 1L T —131.5

B R

19 R2/F0 (ft2/s) =9.29030 X 10-2K2/FF (m2/s)

11 (St) =10-4K2/FF (m2/s) =1JHK2/# (cm2/s)
1EH (cSt) =10-62K2/FF (m2/s) =122K2/FF (mm2/s)

B JIRS R

1 (P) =0.11f « # (Pa-«s)

1§31 (cP) =10-31f « # (Pa -+ s)

1T 58 ) FK2 (kgf s« m2) =9.806651f « 7 (Pa *s)
1B ) FP/BE R 2 (Ibf « s/ft2) =47.88031f « 7 (Pa«s)

yi|

1R (N) =0.225%% 47 (Ibf) =0.102F 5% 41 (kgf)
17557 (kgh) =9.814 (N

1055 (Ibf) =4.454E15 (N)

1344 (dyn) =10-52Fi (N)

&

12 (bar) =105 (Pa)

1T (kPa) =0.145f% J1/3~2 (psi) =0.0102F ¢ /K2 (kgflem2)
=0.0098 K< JE (atm)

1 /%12 (psi) =6.895T 1 (kPa) =0.0703T 3¢ Ji/JHk2 (kglem2)

=0.0689" (bar) =0.068 K’</k (atm)

1Y AKSE (atm) =101.325F 1A (kPa) =14.696f:/75F2 (psi) =1.0333[" (bar)
1 TR E=98.0665T 11 (kPa)
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W A R Ty, 3/4

1ZKKFE (mmH20) =9.806651 (Pa)
12K KA (mmHg) =133.322114 (Pa)
13% (Torr) =133.32211 (Pa)
1ER/EA2 (dyn/em2) =0.11H (Pa)

i

K=5/9 (° F+459.67)
K="C+273.15

n° F=[(n-32)X5/9]'C
n‘C=(5/9 + n+32) °F
1° F=5/9°C (JEEE%)

FEIRFREL

171 CK2« #f + C)  (1kcal/(m2 < h + C)) =1.16279TC/ CK2 « JF/RID  (w/(m2 « K))
1R (N2« I« ° F) (Btu/(ft2 < h+° F))

=5.67826FL/ CK2 « JF/R) ( (wim2 + K) ) 12Kk2 « i » C/F+ (m2+h - Clkcal)
=0.86000°K2 « JF/RK3C/BL (M2 « KIW)

1FFK1K2 « I (kcal/m2 » h) =1.16279F/ K2 (w/m2)

MR
1F4 CKk W« C) (keall(m+he+°C)) =1.16279F0/ CK « JF/R3L)  (W/(m - K))
1L EAR (BER « I« ° F) (But/(ft«h«° F)) =1.7303Fk/ CK » TF/R3DD  (W/(m + K))

Easl
1FR/ (T35« C) (kecallkg * C)) =15/ (5« ° F)  (Btu/(lb « ° F))
=4186.8FEH/ (T « F/R3D (I (kg KD )

I

1 H =0.10204T 7 « Kk =2.778 X 10—7T L * /PiF=3.777 X 10— 724415 Sy /et
=3.723 X 10— 79 % J1 /i =2.389 X 10— 4T F=9.48 X 10 — 45 {7
1k (cal) =4.18684:H (J)

18R (Btu) =1055.068:H ()

1T 581K (kgf » m) =9.806654EH. (J)

1S REES) (ft « Iof) =1.355824:H (J)

1K1 S/ Chp < h) =2.64779X1064:H. (J)

19575 77/ (UKHp « h) =2.68452 X 10645 H-

1T /M (KW« h) =3.6X1064EH. (J)

1K+=4186.75(H (J)

150 )] « KA (kgf * m/s) =9.80665C (w)
K41 45 (hp) =735.499FC (W)

1R/F (calls) =4.1868FC (W)

13 HBAAT /I (Btu/h) =0.293071FC (W)

S
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W A R Ty, 4/4

19 R/FP (ft's) =0.3048K/FF (m/s)
19 /1 (mile/h) =0.44704K/F> (m/s)

11575 =1000Zi5 7
1SE7EK (ecm2) =9.81X 1073414

Ml B S
1° F/100%: R =1.8"C/100Kk (°C/m)
1°CIARE =29 F/3E (° F/mile) =0.055° F/1005: R (° F/ft)

AT =

14 (bbl) =0.140 (t) (i, 2ERFHD

1l () =7.340 (bbl) (J5ih, 4ERF-8))

14i/H (bpd) =50Mi/4E (Ya) (J5i, 4FRFHD

1T S RIH (Mcfd) =28.3237 5 K/H (m3/d) =1.0336 )7 32K/4E (m3/a)

TE A7 RIA (MMcfd) =2.832532752K/H (m3/d) =1033.55 7 32 /5 >K/4F (m3/a)
101232 595 RIH (befd) =0.2832425775K/H (m3/d) =103.364457 /7 K/4FE (m3/a)
VAL BRI (tefd) =283.24457J5K/H (m3/d) =10.336 7143775 K /4 (m3/a)

Stk
137073 RUAR Couft/bbl) =0.208737 75 K/Ml (m3/t)

HE
1A 5 =5.8 X 106 B FA AL (Btu)
15775 KA =3.909 X 104 A7 (Btu)
1S5 KT =3.577 X 1045887 (Btu)
1 E=2.406 X 107 5 A7 (Btu)
1F R/ K HE=1.0235 X 104954 (Btu)
(LA R 19904F 3¢ [ P #uiED
Cotpbki: 56 E E 5ARUE)RD

e

A R i =580017 7 4 RORAR A, (H P33 5D
1T 70 i =1.4286 T se bRk

1377 KRR =1.3300T 0 brvE
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